Alzb : A H
2it-nhY EngHE -
({YTFAYEL) 2%z

- BREEZLILLD). OFTvFERZYVELLI,)

® 55 +-5 = @ 77 =7 =
5+ 5= 7+7=
Xzl Xzl

@48 + 4 = ® 39+ 3 =
4 + 4 = 3+3=
8 ~ 4= 9+ 3=
Xz Xz

@84 - 2 = ® 84 - 4 =
8+ 2= 8 + 4=
4 - 2 = 4 - 4 =
ZZ I Xzl

> ez HMTBITBRYAY



PVE@ELT 18

2iIFF=nh YV ENEEE
(KYFHrY#HL)

3

- BEELILL). OFTvFEEZYELLI, )

® 55 -5 = ||
5+ 5=
5+ 5=
ZLlx ||

@48 -~ 4 = |2

4 ~ 4 = |
8 +-4=2
Lailx |2

@84 + 2 =42

8+-2=4
4 -~ 2=2
Lilt a2

Azt : A H
2% A

® 77 =7 = ||
7T = 7 =|
7+7=
Lalg ||

' ®39= 3= |3
3 +3=1|
9+3=3
Lzlx 13

©® 84 - 4 = 2|
8 -4=2
4 + 4= |
Lzlx 2|

BIBRY ALY



